Resource Management Geography questions revision

Instructions:
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Choose the topic you feel you know the least

Find a question you don't know the answer to within that fopic and write it in your book
Read the pages of the textbook first

Then write the question out fully in your book.

Time yourself a minute per mark eg. 6 marks should be written in 6 minutes. If you

haven't finished in 6 minutes then change you pen colour and complete. This gets you
used to the timings which is an exam skill

UK Physical environments practise questions
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Read p 96-97 - Explain why deposition occurs at certain places along the coast. (3 marks)
Read p 98-99 - Explain the formation of wave cut platforms at the coast (4 marks)

Read p98-99 - Explain the formation of a sea stack at the coast (4 marks)

Read p.90-91 - Explain what determines the UK's landscapes (4 marks)

Read p.94-95 - Describe the effects of weathering and mass movement at the coast (6
marks)

Read p92-93 - Compare the characteristics of constructive and destructive waves. (4
marks)

Read p 100 - Explain the formation of sand dunes (4 marks)

Read p.102-103 - Evaluate any potential conflict between the different uses of the Dorset
coast near Swanage and Studland. (6 marks)

Read p106-107 - Evaluate the advantages and disadvantages of hard engineering at the
coast (6 marks)

Read p.96-97 - Describe the processes that are operating at the coast. (6 marks)

Read p. 98-99 - Explain the formation of headlands and bays on the coastline (4 marks)
Read p.100-101 - Explain how processes of deposition lead to distinctive landforms at the
coast (6 marks)

Read p 118-119 - Explain why a waterfall is a temporary feature on a river (4 marks)

Read p.120 - Draw and label the cross-section of a meander (4 marks)

Read p 120 - Describe the formation of an oxbow scar. (6 marks)

Read p 108-109 - 'Hard engineering is a better strategy to use at the coast’ To what
extent do you agree with this statement? (6 marks)

Read p.110-111 - Examine why a strategy of managed retreat may not be a feasible option
on some parts of the coastline (6 marks)

Read p 112-113 - To what extent can the coastal management at Lyme Regis be considered
a success?. (6 marks)

Read p.124 - "River flooding is a natural phenomenon” To what extent do you agree with
this statement?

20.Read p 125 - Explain what causes the difference between a flashy hydrograph and a

21.

flatter one (4 marks)
Read p126-127 - To what extent are hard engineering schemes along rivers sustainable? (6
marks)



22.Read p.128-129 - Evaluate the advantages and disadvantages of one soft engineering
method on a river (6 marks)

23.Read p 130-131 - Explain how a flood defence scheme you have studied benefits both
people and the environment [6 marks]

24.Read p 114 - 115 - Describe how the shape of a river valley changes downstream (4 marks)

25.Read p 116-117 - Explain why does the bedload of a river usually become smaller and
smoother from its source to its mouth? (3 marks)

26.Read p 121 - Describe how levees are formed. ( 4 marks)

27.Read p 122-123 - To what extent does the River Tees illustrate the features normally
associated with a river's course from its source to its mouth? (6 marks)




